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8PN 19999
int strlen(char str[]) String.h
void strcpy(char dest[], char src[]) String.h
void strcat(char dest[], char src[]) String.h
int strcmp(char s1[], char s2[]) String.h
int __ max(int a, int b) stdlib.h
int __min(int a, Int b) stdlib.h
double pow(double base, double exp) math.h
double sqrt(double x) math.h
double fabs(double x) math.h
Cout lostream
Cin lostream
char cin.get(char& outCh) iostream
void cin.getline(char outStr[], int max, lostream

char delimiter)
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const int MAX_SIZE=100 ;
NPNPNO9N NN IND

int findMulInd(int matNum[][MAX_SIZE], int size,
int regMul) ;
OV (size * size ™MD HYTNI) NI NNIVN VIPI NYIAPN TINPNN
MTNYN 090ND INYY MNVN T90N0 MIYY size NN ,DNYY D900
.regMul nUPan N95m NYILVNI
D MY DNYY DXOPTIRN NYAINY DIINRN DI NN PINM VNN 7PNPNN
.regMul

2 3125
4 238 2

mat={1 0 9 1 5|N¥M0NN NN NI ,NONTY
6 23 8 2
10 7 2 3 1

18 79yn NN PN FindMul Ind(mat,5,4) 18PNad RPN
mat[1][4]+ mat[2][2] +mat[4][1]]=2+9+7 =18 : *>
4=2%2 -14=4*1-)

34 7y NN NN FindMul Ind(mat,5,0) 7O8PNAY RPN
: 0D
mat[0][0]+ mat[0][1] + mat[0][2] + mat[0][3] + mat[0][4] +
+ mat[1][0] + mat[2][0] + mat[3][0] + mat[4][0] =
=2+3+1+2+5+4+1+6+10=34
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int findMulInd(int matNum[][MAX_SIZE], int size,
int regMul)
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bool equalPartP (int numArr[], iInt size) ;

size YT NNY DOV OM90N DY NUMAKT TN  LVOPD NYAPN MNP
.size>2 D»pPNN DOV NINY

(0 < p < size—2)7WN1 p DPTON DMP O7ON true Ty NPINN NIXPNN

1Y DMOPNN IV ,MIV DMDOY DXNINT DIPON NV TIVHN NN PONNN
numArr0] + numAr1] + ... + numArrlp] =
= numArrlp + 1] + ... + numArrsize - 1] =

numArr0] + numAr1] + ... + numArrsize - 1]
2

ownd
true ™mnPn equalPartP ([1,2,6,5,2,12],6) O
. Pp=3990 1+2+6+5=12+2
true ™mnPn equalPartP ([27,2,6,5,2,12],6) O
. p=09MY0 27=2+6+5+12+2 >
p o»p nY > false v»nn  equalPartP ([3,2,6,5,2,12],6) O
LOINID
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bool equalPartP (int numArr[], iInt size)
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const int MAX NAME_LEN = 100;
:9Y992 T2 NN NN NITHINN NINNN
struct employee{
char familyName[MAX_NAME_LEN]; //anowni ow nR 92on0 07w
char firstName[MAX NAME_ LEN]; [[v1957 own PR Doonn ATw
int empNum; /17219771 9501 DR 2000 77w
int salary; [/720971 nMDWwn DR 92ona 7w
}:
typedef struct employee EMPLOYEE;

: INID NPXPNON INIIAND

int* findSalary(EMPLOYEE emplos[], int size,

int regSalary, iInt &new_size);

a0 NMOWN G0N size YT NN DT YW emplos TN NYIAPHN MIXPNIN
.reqSalary nvpian
AwN (empNum NTYN) DTN 190N 1) TIWH PINM NSPN  7INPNN
NNV YIND TWNN DTN .reqSalary D1ODY MNSD NMNY DNOY NNOVNN
.new_size VYO MNVN2
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int * findSalary(EMPLOYEE emplos[], int size,

char RegFamily, Int &new_size)
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void findLetters(char strl[], char str2[]);

MOMIN NPNY IMWYN)  Str2-) strl MMINN NV VOPI NOIAPN MNP

NPMIND 95 NN NDATHY NN (MIVP) lower case NPMN MNP (TINN
NVYMND ,IMIDI) VOPN MNINHKD NNN DI2 NNX DY MNAD MYV
MY DI MK, NI-GINRD ITO 295 10T NPMIND (NININHN 2NYWA MYNNHY

NP DVND

findLetters('computer science™,the child is smiling ™)
97N

INDNIN MWD 29 1OV
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void findLetters(char stri[], char str2[])
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:(MPI 10) NS NHNY
:TPNPNON DY 22509199 VI 1AND

int sumMod3(int num);
MH9DN YD DD NN NPIND) XAPN OOV 990N num VOPI NYAPN TPNPNON
.3-2 MPoNNNY

: DINONT
. 3+6=9 >0 9 NN sumMod3(23462) NNIPN

.3-2 MPYNNNN MID 190N P >3 0 PINN sumMod3(28) NNIPN
.9 PN sumMod3(9) NNPN
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int sumMod3(int num)
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bool isPrefix(char stri[], char str2[]);

O true NI NPTIY,SEr2 - Stri MNINK ONY VP NYIAPN NP
.Strl noNNNa MY MY L, strlYw N NN str2 DN P
MNHNT

NNy Dan o0 true N isPrefix('Daniel™,"Dan'™) NNIPN
.Daniel n>»nna

qrue mnn isPrefix(*'Daniel is nice”,"Daniel i) NXMPN

str2 nnnnn) true NN isPrefix('Daniel is nice™,' ") NNAIPN
NP

AMPy MNINKN ONY) true Pnn isPrefix (", ") INOIPN

DaN

false vwnn isPrefix('Daniel is nice”,"F'™) nNNIPN

false vnn isPrefix("'Daniel is nice',"Dan is™) NNMPN ON
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bool isPrefix(char stri[], char str2[])
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